* LR IFEBEDSFTICBEYM T TEES,

* Adhesive rubber feet in cluded.

13

HERNZ / Components

No. £ %5 / Part name #=E / Pcs #E / Material - RMEAIE / Color-Finish
1 pA=A ATV 1 7 JLEHR A1050P ATHAVIIIN =T WAL, ATF407 7997 W34}
Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 DT IR 1 7 JLEHR A1050P YN =TLRAL, 77997 L34t
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARIL—L 2 TIVSIRH AT A6063S-T5 YU-BREE | TV
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JavkIL—L 2 TV A A6063S-T5 YU T RE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YT IL—L 2 TILSIRH A A6063S-T5 YN =T LIt
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 EH/8—/ Top cover 1 #ffl#lx SPCC / Steel SPCC FAM V- | 75993 E / Light gray painted , Black painted
7 T#H/3— / Bottom cover 1 $li#k SPCC / Steel SPCC M L-FEE | 759555 / Light gray painted , Black painted
8 a—+—Javy 2 TILSH 4 F v ADC12 UNVes: £ I PUL- -
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 74—k 2 BEPRTEABSHLE UL94V-0 b=, 7739
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 JL R / Rubber feet R4 / Polyurethane 7'799 / Black
11 HATE R (M4 x 6 53) E7S =ffiynr-t
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HTE R (M4 x 8 +X) 8 #% =ffiynr—t
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 ERATE X (M4 x 10 /3 2K) 4 E7S =ffi R yni-t
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

BRRUINTFERTE

fn4a/Title

AR AT LIT—2R

o]

iR (BEXRED) / Color type (End of product numberd) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
i 5 / Code INRIL / Panel | E TA/N— / Top * Bottom cover | /K7L —L / Side frame 752 /Approved 12X /Checked H[/Created HYZ& /Product number RE/Scale
G 2 JLI8— / Silver 54 L— / Light gray 4'L— / Gray MS88-21-3501
B 735v% / Black 735v% / Black 735vY / Black x E A 1/ 8
BS 2 JLi3— / Silver 73v% / Black J5v% / Black ERLH/Date 2017/08/01




12.5

20

10

20

B-B(1:4)

180

v—r

[T

HAKF2JL—.L1 / Side framel

88

6.1

Fn '—‘-!
C C
! !
20> k20 —.A1 / Front framel
210
B A B
46 S 4
N
~
)
N— 7
<— A
183

1)72L—L\1 / Rear framel

A-A(1:4)

~ti% / Max dim. 83

3

—_
~
(4]

"

B#~ti% / Max dim. 325

)7L —.L2 / Rear frame2

B~ % / Max dim. 189

20220 —.L2 / Front frame2

j‘l
EX]
~
JJ |
7
H AL —L2 / Side frame2
A /Title —
A == N —_
TAKACHI| #HX&ishFEHTE AL RT Il —R O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
K F8/Approved #&X/Checked #1[X|/Created #FE /Product number RE/Scale
MS88-21-3501 14
Ea ES20) 2 /8
e B /Date 2017/08/01




82 k/\R)JL / Front panel

B ~ti% / Max dim. 180

B ~i% / Max dim. 72

R — Al

Surface protective film side

i

/\7~)LZ M /Panel Frontside

1)J7 /\4~)L / Rear panel

BE#~3i% / Max dim. 71.5

B ~ti% / Max dim. 180

\ NV AV

Hairline brushed direction

REE—b Al

Surface protective film side

/N2~ )LIR M /Panel Frontside

183
© —— -
/N7~ )LE M /Panel Backside
188.5
- - - -

/N7~ )LE M /Panel Backside

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
ZAVRARIL YT INRIL

Front panel , Rear panel

o]

72/ Approved

#&[X/Checked

x

#I[X]/Created

HH

A% /Product number
H88 — W210

RE/Scale
1:1.5

YERLH/Date 2017/08/01

3 /7 8




317.5 10

2-¢5 4-4.5 2-p42 pta
o ¢ < d -  E— SR
82 MME| / Front side 2 s E ® 2 IFE
[ [¢ M‘ﬁ

HAK2JL—L1 / Side framel
35 2375

7o)

%4

3

ry
Vi
v

B2 M| / Front side rll}é

o

L&/

2|

o
ps "
L4

HAKIL—L2 / Side frame2

ma /Title
BRRMIHNFEHTE Y ARIL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
752/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
H88 - D350 185
T Tt 4/ 8
{ERL H /Date 2017/08/01




183

30

17
IN?

1A
1IN

173

202 k2L —LA 1 / Front framel

8
R4
o
N
N
\/J
2-MAFH 371
2-M4 Countersunk
C

202820 —L2 / Front frame?2

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
ORI —A4

Front frame

o]

A& 8/ Approved 1/ Checked

e

#IX/Created

¥t

R /Product number

w210

RFE/Scale
1:2

{EBL B /Date 2017/08/01

5/ 8




20

191

&ns

M4

=

1)J72L—L\1 / Rear framel

=

)7L —..2 / Rear frame?2

md/Title
TAKACHI| MXS#HINhFERIE P IL—Ls @ |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
7 &R/ Approved 12X /Checked H[/Created I /Product number RE/Scale
W210 1:2
£ 4t
Ve H/Date  2017/08/01 6 /8




6.75

15

3195

179.5

206.5

Bzh~tiE / Max dim. 189

R4.5

<t 3% / Max dim. 287.5

>
X

ol

12

15.5

144

50

35

6.5

md/Title
BRRMIHNFEHTE EhA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7 ER/Approved %X /Checked #[&]/Created FIZ /Product number RE/Scale
W210 - D350 1:25
£ 23] 18
e B /Date 2017/08/01




6.75

15

3195

=

179.5

206.5

BE3h~ti% / Max dim. 189

R4.5

BT / Max dim. 2875

12

15.5

6.5

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

md/Title
THhi\—

Bottom cover

o]

R/ Approved

1% [X|/Checked

e

#IX]/Created

¥t

B F /Product number

W210 - D350

RFE/Scale
1:2.5

{EBL B /Date 2017/08/01

8 /7 8




	ms88-21-35
	ms88-21-35 Model (1)



